Soustraction (C)

Calculez la différence.

8051 7007 6607 6356 3511 8646 4108 5553 2891 1194
—7282 —6319 —5392 —5544 —2799 —1828 —2883 —4981 —1357 —1106

6959 7270 3243 1826 6464 2274 2306 8601 5531 5092
—3883 —6844 —1276 —1106 —5654 —1421 —1114 —4034 —-2748 —1560

1921 8091 2685 6364 3079 7062 9755 V633 7221 3974
—1902 —4534 —1086 —3245 —1030 —1134 —2933 —5458 —3615 —2195

3750 8543 1535 3638 1401 7607 9812 4360 1887 = 2482
—2792 —5975 —1413 —1787 —-1017 —-6503 —6509 —2637 —1852 —1759

9157 6735 6834 7381 3840 5687 7535 1835 7946 4724
—3067 —6115 —2676 —5328 —2237 —4122 —4351 —1568 —1905 —1348

3356 9497 9582 2655 6894 2206 9742 5898  TH5H1 3675
—2834 —7994 —2980 2166 —3117 —1357 —5714 —3976 —7148 —3646

6117 6173 5814 4192 1793 3557 4783 6155 9654 8026
—1130 —5480 —4696 —-1601 —1560 —3272 —1689 —1722 —5055 —1391

6607 6854 1655 8391 4438 1693 4850 7530 4214 7307
—6271 —1168 —1089 —3313 —1846 —1574 —1755 —2135 —1448 —1830

2275 5793 4759 5825 3981 8025 5459 6665 4980 9156
—2230 —1318 —2542 —5132 —2851 —6744 —4928 —4271 —2936 —5148

7106 6366 3258 6668 7075 3483 9120 9735 6865 7567
—4149 —5360 —2545 —5464 —3062 —2863 —5706 —5063 —4642 —3143
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